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Tab. 17.1 Potenciais de Eletrodos Padrdes a 25°C

AG & Reagao' nea /;,/‘q_
Reagdo do eletrodo ¢°/v
o + E4pontancea K* +8~ =K ~2,925
- A Na®™ +e¢” =Na -2,714
: = Nas esponidnea H, 327 =24 =334
~ ; AP 4+ 3¢ = Al -1,66
0 o) Em eﬁm'&’éw'o Zu(CN)2™ + 2e = Zn + 4CN- ~126
ZnO3~ + 2H,0 + 26~ = Zn + 40H" -1,216
Zn(NH,)2* + 2e” = Zn + 4NH, -1,03
Sn(OH)?™ + 2¢~ = HSnO; -+ H,0 + 30H" —0,90
_ “ N Fe(OH), + 2¢~ = Fe + 20H" -0,877
Equa Gco de enst 2H,0 + 2e~ = H, + 20H" -0,828
. Fe(OH); + 3¢~ = Fe + 30H™ -0,77
: Zn’* + 2~ =Zn -0,763
AG = AG + RT P Q Ag,S + 2e” = 2Ag + 5%~ -0,69
Fe?" + 2¢e~ = Fe —0,440
Bi,O; + 3H,0 + 6e~ = 2Bi + 60H" -0,44
o PbSO, + 2~ = Pb + SO2~ ~0,356
-nYé& = AG + RTQ‘“Q Ag(CN); + e~ = Ag + 2CN~ -0,31
Ni?* + 2¢~ = Ni -0,250
5 ) Agl +e” =Ag+ 1~ -0,151
~ Sn2* 4+ 2~ = Sn ~0,136
-n3 & = AcG : Pb2* + 2¢~ = Pb -0,126
Cu(NH,)2* + 2¢~ = Cu + 4NH, -0,12
- Fe** +3e” =Fe -0,036
2 e 2H* + 2" =H, 0,000
& = & - R7T 2n QY AgBr + e~ = Ag + Br~ +0,095
HgO(r) + H,0 + 2~ = Hg + 20H" +0,098
mn F Sn** 4+ 2¢” = Sn?* +0,15
AgCl + e~ = Ag + CI~ +0,222
Hg,Cl, + 2¢~ = 2Hg + 2CI~ +0,2676
R Cu?* + 2~ =Cu +0,337
- 1847 ' Ag(NH,)J +e” = Ag + 2NH, +0,373
Hg,SO, + 2¢~ = 2Hg + SO2~ +0,6151
o Fe** + ¢~ = Fe?* +0,771
L = é - 9 0577é & Q Ag* + e =fAg +0,7991
# jm O, + 4H* + 4¢™ = 2H,0 +1,229
PbO, + SO2™ + 4H* + 2¢” = PbSO, + 2H,0 +1,685
O; + 2H* + 2e~ = 0, + H,0 +2,07




